ERE1=6-1=5, fRE2=3-2=1, FiE3=6-5=1. FIRE4=8-8=0, MEE5=5-2=3. FIRE6=9-9
=0, FIRE7=2-1=1, [RE8=9-5=4, RIE9=8-7=1. BE10=3-2=1, E&E11=8-2=6. &
R812=5-1=4, [EIRE13=6-6=0. [EIRE14=9-3=6, [ERE15=7-6=1. fEE16=6-4=2



ERE1=5-2=3, [ERE2=7-2=5, [iRE3=1-1=0, fER84=4-2=2, [E5=3-3=0. FRE6=3-1
=2, FIE7=8-3=5, [ERE8=4-2=2, FIE9-6-6=0. EE10=5-3=2, BEE11=4-4=0. &
RE12=7-6=1, [EIRE13-8-6=2, [EIRE14=8-1=7, [ERE15=7-5=2, fE@16=7-3=4



ERE1=8-7=1, FERE2=9-7=2, FiRE3=6-6=0. FIRE4=7-1=6, ME5=2-1=1. FIRE6=9-6
=3, FIE7=9-5=4, [RE8=2-1=1, REI&9-9-9=0. BEE10=-6-2=4, BEE11=9-8=1. &
R812=6-2=4, [IRE13-8-2=6, [EIRE14=5-4=1, [ERE15=8-2=6. fEE16=5-1=4



ERE1=3-2=1, FERE2=7-2=5, [iRE3=7-1=6, fERE4=8-1=7, [iE5=4-1=3, FRE6=8-1
=7, FIRE7=5-4=1, [ERE8=7-1=6, REIE9=7-1=6, EE10=-6-4=2, EE11=8-6=2, &
#812=9-8=1, [EIRE13=8-5=3, [EIE14=7-1=6, [ERE15=6-5=1. fE&E16=5-1=4



ER81=5-2=3, fERE2=7-6=1, [RE3=8-2=6, FIRE4=3-1=2, ME5=9-2=7. FIRE6=4-2
=2, FIE7=9-6=3, fRE8=2-1=1, REI&9=7-1=6, BEE10=4-2=2, BE&E11=9-8=1. &
R812=4-1=3, [EIRE13=6-1=5, [EIRE14=4-4=0, [ERE15=4-1=3, fEE16=6-3=3



EIRE1=7-2=5, [ERE2=5-3=2, [iRE3=6-3=3, fRE4=3-2=1, [iE5=6-3=3, MRE6=9-1
=8, [IE7=7-5=2, f@8=7-5=2, R&E9=7-2=5 [&E10=9-3=6, EE11=9-5=4, [
R812=7-4=3, [IRE13-8-2=6, [ERE14=7-6=1. [ERE15=5-1=4, [EE16=7-3=4



EE1=4-3=1, PEE2=4-2=2 P9EE3=2-1=1, M5B4=5-2=3, ME5=9-2=7, MH5E6=3-2
=1, M9EE7=8-2=6, [9%8=0-6=3, RIEH0=9-2=7, MI|10=8-4=4, RIEEN1=7-7=0. M3
B812=8-5=3, MIE13=0-5=4, IEE14=4-3=1, F5E15=3-1=2. FIE16=4-4=0



ERE1=9-8=1, FERE2=6-2=4, [E3=6-4=2, FIRE4=7-2=5, ME5H=8-4=4, F[IRE6=9-8
=1, REE7=6-2=4, #8=3-2=1. REE9=8-5=3, HE10=6-2=4, EE11=6-2=4, [
R812=9-6=3, [EIRE13=4-2=2, [ERE14=9-8=1, [ERE15=9-2=7, fE&@16=4-1=3



ERE1=8-1=7, FERE2=6-5=1, RIRE3=9-5=4, FIRE4=5-3=2, ME5=8-4=4, F[IRE6=4-3
=1, FIE7=9-1=8, [88=4-1=3, REI&9=2-2=0. BE&E10=9-7=2, BE&E11=5-5=0. &
RE12=4-2=2, [EIRE13=9-5=4, [ERE14=9-7=2, [ERE15=9-5=4, [EE16=8-5=3



ERE1=9-5=4, [ERE2=3-1=2, [iRE3=5-1=4, [ER84=8-4=4, [iE5=9-8=1. FRE6=1-1
=0, FIRE7=7-6=1, [RE8=4-2=2, RIE9=5-3=2, REE10=-6-4=2, B&E11=7-2=5. &
RE12=4-3=1, [BEIRE13=7-6=1. [EIRE14=9-9=0, [ERE15=7-3=4, [E&16=3-3=0



